Bond Pricing(Matlab Code)

symspcyft%p B, cREHAELE, vE2FIIER, fR_RIE, t 2HEFHR.
p=c*(1/y-1/(y*(1+y)))+/(1+y) t;

%R 1p 5y Bt

% c = 100;

% f = 1000;

%t=10;

%y =0.01:0.01:0.2;

%%fun=p

% fun = @(y)c.*(1./y-1./(y.*(1+y).A))+£./(1+y).M;

% plot(y,fun(y));
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%) 2 dy — &R, |dp/p|5 t IELE

% Inp=log(c*(1/y-1/(y*(1+y)"t))+f/(1+y)"t);

% diff(Inp,y)

% ¢ =100;

% f = 1000;

% t=1:1:10;

%y=0.1;

%%fun2=(dp/p)/dy

% fun2 = @(t)-(c.*(1./(y.A2.%(y + 1)) - 1./y.A2 + t/(y.*(y + 1)t + 1)) - (F*t)./(y + 1).7(t +
1)./(e*(L/(y*(y + 1).4t) - 1./y) - £/(y + 1).7M);
% plot(t,abs(fun2(t)));
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%R EE 3 dy — &M, |dp/p|/dt>0,d(|dp/p|/dt)/dt<0
% Inp=log(c*(1/y-1/(y*(1+y)"t))+f/(1+y)"t);

% diff(diff(Inp,y),t)

% c =100;

% f = 1000;

% t=1:1:100;

%y=0.1;

%%fun3=d( (dp/p)/dy)/dt
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% fun3 = @(t)(f./(y + 1).A(t + 1) + c.*(log(y + 1)./(y.22.*(y + 1).At) - 1./(y.*(y + 1).A(t + 1)) + (t. *log(y
+1))./(y*(y + 1).Mt + 1)) - (¥t log(y + 1))./(y + 1).A(t + 1))./(c.*(1./(y.*(y + 1).°) - 1./y) - f./(y +
1).M) + (((F*log(y + 1))./(y + 1).At - (c.*log(y + 1))./(y.*(y + 1).2M)).%(c.*(1./(y. 2. %(y + 1).°A) -
1./yA2 + t/(y.*(y + 1).Mt + 1)) - (F*t)./(y + 1).2t + 1))./(c.*(L./(y.*(y + 1).At) - 1.)y) - f./(y +

1).M).12;
% plot(t,abs(fun3(t)));
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%IREE 4 dy — RS, |dp/pl 5y Bz b

% Inp=log(c*(1/y-1/(y*(1+y)"t))+f/(1+y)"t);

% diff(Inp,y)

% c =100;

% f = 1000;

% t=10;

%y =0.01:0.001:0.3;

% %fund=(dp/p)/dy

% fund = @(y)-(c.*(1./(y.22.*%(y + 1).Mt) - 1./y.A2 + t./(y.*(y + 1).A(t + 1)) - (£*t)./(y + 1).7(t +
1)/(e.*(L/(y.*(y + 1).41) - 1./y) - £/(y + 1).7M);
% plot(y,abs(funé(y)));
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%JEH 5 dy —EMN, |dp/p| 5 ¢ Rz
Inp=log(c*(1/y-1/(y*(1+y)t))+f/(1+y) t);
diff(Inp,y)

¢ =10:1:300;

f=1000;

t=10;

y = 0.05;

%fun5=(dp/p)/dy

fun5 = @(c)-(c.*(1./(y.22.¥(y + 1).M) - 1./y.22 + t./(yv.*¥(y + 1).7(t + 1)) - (F*t)./(y + 1).M(t +
1) /(e *(1./(y.*(y + 1).°1) - 1./y) - £./(y + 1).7M);
plot(c,abs(fun5(c))); syms p cy f t %p 2 H%, c RRHIFIE &, v 22U, f ZH1E,
t 277 IR -

p=c*(1/y-1/(y*(1+y) ))+f/(1+y)"t;

%HEH 1p 5y izt

% ¢ =100;

% f = 1000;

% t=10;

%y =0.01:0.01:0.2;

%%fun=p

% fun = @(y)c.*(1./y-1./(y. *(1+y). t))+f./(1+y). At
% plot(y,fun(y));
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